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BCQ /A-16
COSTACCOUNTING
Paper—11
Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all, selecting at least one
question but not more than two questions from each unit.
All questions carry equal marks. '
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Unit-1 (3%E-1)
1.  Define Cost Accounting. Explain the objectives and methods
of costing. 16
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2. (a) Whatispurchasecycle 2 Briefly explain its operation.
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(b) A company buys 8000 units of an item for its annual
requirements. Each unit cost Rs. 10. The ordering cost
per order is Rs. 30 and the carrying cost is 7.5% of the

average inventory per year.
(@ Determine the economic order quantity and total
inventory cost.

@) Should the company accept an offer of 2%
discount in price of 4 bigger order of quarterly
requirements of the materials ? 8+8
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What is meant by incentive i |
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Unit-11 (3%-11)

What _.,m.o you mean by Allocation, Apportionment and
mcmoﬁc.o: of overheads ? Discuss the various methods of
Absorption of factory overheads. . } _oo
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M#a Manager of Fan manufacturing concern consults you as
ost Accountant as to the minimum price at which he can sell
fans of the concern which are intented for mass production in

Production and Sale : 500 Fans

Rs.
1,20,000

Direct Wages 60,000
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" Direct Charges 10,000
Works Overhead 70,000
Office Overhead 28,000
Selling overhead 32,000
Profit 48,000

You ascertain that the 50 percent of the works overhead
fluctuates directly with production and 60 percent of selling
overhead fluctuates with sales. It is anticipated that the
department would produce 2500 fans per annumand that direct
Labour charges per unit will be reduced by 20 percent while
fixed work overhead charges will increase by Rs. 30,000. Office
overhead and fixed selling overhead charges ate anticipated to
show an increase of 25 percent but otherwise no changes are
expected.

Prepare a statement to the manager of the concern if
same percentage of profit is desired as inthe pastyear. 16
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= 1,20,000
R 60,000
e : 10,000
i 70,000
o BT i 28,000
ol : 32,000
2 48,000
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ABC & Company closes its accounts annually on 31st
December. Contract No. 105 commenced on 1st April, 2015.
The costing records show the following information on 31st
Dec. 2015.

Rs.
Materials Issued 24,000
Wages 45,000
Outstanding Wages 2,000
Office Expenses 4,000
Foreman’s Salary : 5,000
Direct Expenses 10,000
Sub-contract Cost 3,000

A machine costing Rs. 16,000 had been on the site
for 146 days. Its working life is estimated at five years and
its scrap value at Rs.1,000. A supervisor who is paid
Rs. 1,000 p.m has spent one-half of his time on this contract.
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Material at site on 31% Dec. 2015 was Rs. 3,000. The
contract price is Rs. 2,00,000 and m of contract was completed
by 31st Dec. 2015. Architect had issued certificate covering
60 percent of contract price. 80% has so far been received by

the contractor. Prepare contract account, work-in-progress
account and Contractee’s Account. 16
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Frfa areh 24,000
Torgll . 45,000
FHA A : 2,000
P &Y 4,000
B B AT 5,000
TE g 10,000
Y- T 3,000
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Unit-I11 ($%rE-111)
What is transport operating costing ? Explain the objectives
and costing procedure of transport operating costing, 16
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A product passes through three processes A, B and C. The
normal wastage of each process is as follows :

Process A, 3 percent; Process B, 5 percent; Process C,
8 percent. Wastage of Process A was sold at 25 paise per unit..

That of Process B at 50 paise per unit and that of Process C at
Rs. 1 per unit. 10,000 units were issued to Process A in the

beginning of Oct. 201 0,atacostofRs. 1 per unit. The other
expenses were as follows :

Process A Process B Process C
Sundary Material 1000 1,500 500
Labour 5,000 8,000 6,500
Direct Expenses . 1050 1188 2009
Actual output was:
Process A 9,500 units; Process B, 9100 units; Process C 8100
units,
Prepare the Process accounts : assuming that there was no

opening or closing stocks. Also give the abnormal wastage or

Abnormal Economy. 16
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Calculate material variances from the following information :

QuKe) | Pie(Rs) [VieRs) Q. (Kg) | PriceRs) | Vibe(Rs)
A ) 4 | W . =
£ 0 3 1 & 2 L
% 140 100 470

Les 2 = 8 =
M- M0 ¥ 470

16

PT.O.

21131




10.

(8)
Frefofed geem @ amalt Rerelt & omn S

e Liec TS
A (Bh) |5 (5.) 7 (5.)| 700 (@48 | 5 (5) | ()
A 50 4 00 4 5 200
B 3 180 30 180
C 2 ] 3 3 %
. 100 ) 100 470
wiw_2 — = b,
0 w n 4
16
Write note on following :
(@ Reasons for disagreement between the costing and
financial results.
(b)  Cost-Value-Profit Analysis. 8+8
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